Opérations avec deux fractions mixtes (I)

Nom: Date: Note:

Calculez chaque résultat.

1 5%+2% =
2 5%+3§ =
3 5%+1§ =
4 5%—3% =
5 5§+1§ =
6 52+5E =
3 17
7 5%+5— =
8 5;-22 =
9 5%x1% =
10 5;—3% =
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Opérations avec deux fractions mixtes (I) Réponses

Nom:

a

Date: Note:
Calculez chaque résultat.
1 1 11 7 47 5
Bt =313 % =7
8 37 35 37 9 333 88
77% T 779 T 7%35 7 a5 T s
3 .5 23 13 59
e N
1 47 10 17
(73 93 9 T 15
3 .3 43 7 57 1
Bt = %t % T3
2.1 _ 17 9% 17 17 289 _ 1
37717 3 17 3796 288 288
1.2 _ 11, 17 _ 1 3 _ 33
2°73 273 2717 34
4,60 _3¥_20_ DB ,5
7 77 7 7 7 7
7 4 47 21 987 35
BT TR T e~ 136
2
3,2 38 23 _ L _ L1
7 77 7 7 7
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